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1 Elevator motor

An electric motor is used to lift a 1000 kg elevator. The elevator moves upwards a distance of
6.0m. The eventual aim of this exercise is to use energy to determine the amount of charge
supplied by the battery that drives the motor. We will assume that the motor and associated
electrical circuitry is perfectly efficient.

a) Basic physics shows that the amount of energy required to lift the elevator this way is
approximately 600000J. Suppose that it takes one minute to do this. Determine the
power provided to do this. 200V

b) Suppose that the battery connected to the electric motor provides a voltage of. Deter-
mine the current that the battery provides.

¢) Determine the total charge provided by the battery to lift the elevator
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this analysis ignores many details: alternating c circuits, imperfect energy
transfer, etc.
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